
Subject: Re: Uttar Pradesh data analysis mismatch
Posted by lmallick on Sat, 16 Nov 2019 20:03:57 GMT
View Forum Message <> Reply to Message

Dear Dr. Tomar, 

My sincerest apologies- it appears there is not an error in the code as I had originally thought.
These reports differ from the typical DHS table structure and I missed the denominator
specification. The denominator that we in fact need to match is all births. Therefore, please use
the above code but take out "bidx==1" in all instances and try it again. 

Thank you, 
Lindsay 
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